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SECTION—A |/ 97 —A
GENERAL KNOWLEDGE / 9M g 4

Belur Math is the headquarters of
(A) Arya Samaj

[B) Ramakrishna Mission

[C) Sevashram

(0 None of the above

. Alchil Bharativa Kalidas Samarch is

organized in

(4) Madhya Pradesh
(B) Rajasthan

{C] Bihar

(D} Uttar Pradesh

. The famoua novel, Godan of Munshi

Premchand is based on
(A4} Zamindars

(B) Farmers

i< Mmr:lylmﬂm-s

(D) Dalits

. Bhovana Narayan is famous for which

classical dance?
(A) Kathal

(B] Bharatanatyam
IC) Odissi

{0} Kathakali

JAPRA-01A/ 1414

1. e 72 few wen w5 geem b

(a) el wErm

(B) T fa

(C) #awm

(D) g & =i

. e v wfEm waie @ e w.

B 37

(A) e W
(B) T
() Rrer
(D) FFW

3. gl == w0 wide I iew amai B
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By et @

{c) s o
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§. The place in Rajasthan, where India wﬁ.,ﬂ@.% T i TEE e W SR

conducted its nuclear tests, {s T i S, T B
i o
&) Jaipur (A) T
{B] Udaipur (B) =L
(C} Pokhran ) (C) e
™ Ajmer . D) 3
6. The colour of light is determined by its 6. Fraffian # @t ferds 2w =1 i i
gt 27
{Al amplitude
{A) THF T I
(B} wavelength
(B) 7o wiveed
(C) intensity
() Foehr #iEm 3m
(D) velocity
(D) ek @ gR
7. The enzyme which helps in the
digestion of protein is 7. W % e A e e R
2 (4= 11
(A} urease (A How
(B} sulfatase (B) TR
(€} trypsin _ () ffem .
(D) protease - (D} wiftem
8. The colour of blood is red because of B, T % T we wd w47
(A} presence of platelets (&) wHEEE & wEm
(B} presence of WBCs (B) =8 T Filwi F S
(C) presence of oxygen (C) e & Fm
[} presence of hacmoglobin (O} iR & wwm

JARRATO1A/14/A 4



9. Find the missing number : ’ 9, T[F wEN T Hif :

L, 3, 7, 15, 31, 7 1, 3,7, 15, 31,
(a) 63 (4) 63
B 37 ; B) 37
) 36 ' (€ 38
D) 73 o) 73

10. Find the missing number :
TE @42 66 0 P

10. W HGA g S
4 T6:42 n 66 2

W 63 {A) 63
B 12 & 12 .
(c) 35 .5
(D) 38 <

1l. TR B=2, AHEAD = 18514, o 31385=7
11. If B=2, AHEAD =18514, 40 31385=7

(A} CCAHE
{A] CCAHE

(B) CACHF
(B] CACHF

(C) CACHE
15} CACkE (D) CACEH
(D) CACEH

12. W T fian & 8 fko e Wy am wa 2,

13. Anuj travels & lm in north, then 3 kni v w3 o e e § st i

o e e wm e e g
far is he from his starting point? Tt g wd= =

(Al 11 km (Al 11 6o e

(B) 12 km B) 12 e de

i) 15 km i) 15 fEe 1le

(D) 18 km D) 18 fre o

JAPRA-01A/ 147A 5 | P.T.O.




13.

14,

15.

16.

Whe is the Governor of Madhya
Pradesh?

[A) Dr. Syed Ahmed
{B] Shivraj Singh Chouhan
{C}] Ram Naresh Yadav

(D) None of them

In which district is the Kanha Hisli
Rashtriya Udyan situated?

{A) Umaria
[B) Shivpuri
IC] Mandla

{0 Panna/Chhatarpur

Historical elty Ujjain ia situated at the
bank of the river

[4) MNarmada
(B} Chambal
[C] Kshipra

(0} Betwa

Whoe is the
Uttarakhand?

Chief Minister of

4] Vijay Bahuguna
{B} Harish Rawat

(€} Veer Bahadur Singh

(D) Bhagat Singh Koshiyari

JAPRA-O1A/14/A
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(a) Fufm

(B) fimgf

(T} =oE=n

(D) /e

18, dfrefiE r Tde e T ¥ Rt am 8
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17T.

18,

19,

20.

The Governor of the: Reserve Bank of
India is

(A} Raghuram Eajan

(B} Y. V. Reddy

(C) Montek Singh Ahluwalia

(D} Dr. D. K. Jain

Which person is honoured with Bharat
Ratna with Sachin Tendulkesr on 26th
Janary, 20147

(&) P. R. Vasudeva Rao

B) C. M. R Rao

(C) Dhyan Chand

(D) Dr. A P. J. Abdul Kalam

The Frime Minister of Bangladesh,
Sheikh Hasina, belongs to which
political party?

{A) Bangladesh Nationalist Party

{B] Awamni League .

(C) Jatiya Party

D) Bangladesh Canaemuve Party
Nobel Prize in Literature for 2013 was
given to

{A) Alice Munro

(B] Mohd, Yan

{C}) Michael Levit

{0} Peter Higea

JAPRA-O1A/ 14/A
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18.

19.

(A} g TR

(B) e dte

() wiew e sl

(D) =e dte Fe 37

26 FEil, 2014 F1 WA fgEE F Ae-ay

fFm 7w =i = T ® wEm R
e

A dto 3o avgEE T

(B} Hie THe o T

) s =

D} o Te flo Fo Fags FoW

s A worH da s e o
=a § waim §

(4) =ieRT ATl e
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) =i T
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(C) e A
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21.

24,

The 17th Asian Garnes will be organized
in 2014 in

{A) Malaysia
{B] China
{C] South Korea

(D) Japan

The cost of sugar is ¥ 16 per- kg If it
decreasea to ® 14 per kg, the cost iz
decreased by

A 12:5%

B 11-5%

) 95%

o) 85%

A 360 metres long train crosses the
360 metres long platform in 36
seconds. What is the speed of the train?
(&) 36 km/hour

B 72 km/hour

{C) B0 lomhour

(D} &0 km/hour

The average age of A B and C is
25 years. If the average age of A and B
is 2B years, what is the age of O7

[A) 21 years

[B) 24 vears

[C} 27 years

0] 19 years

JAPRA-O1AS14/A
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23.
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(a) iR

| ==

(C) =i =ifeay

(D) =
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(A) 12:5%
| 115%
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24.

A} a6 fo dio oy
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25. Civil Disobedience Movement was stafted

by Gandhiji on
{A) 12th March, 1930
(B} 10th April, 1925
(C) 11th January, 1927

{0 16th December, 1935

. When did ‘Simon Cofamission’ arrive
in India? = i

(A] 1928

(B) 1930

<y 1919 .

@ 1920

, 'Who wrote Vande Mataram’ 5:;‘1315?
{A] Bankim Chandra Chattopadhyay
{B Rabindranath Tagore

{C) Abanindranath Tagore

(D} Surendranath Banerjee

. Khilafat Movement, 1919 was mainly
launched by which two Ali Brothers?

(#] Mohammed Ali and Shaukat Ali
(B) Hazrat Ali and Musarraf Ali
(C] MNazekat Ali and Hafder Ali

(D) Tbrahim Ali and Roshan Al

JAPRA-O1A/14/A

a8, itk o Wi WEE TSR S s

26.

27.

B

(A} 12 Wi, 1930
(B) 10 =@, 1925 #
ic) 11a=rafr,_t9-27=ﬁl

D) 16 femeR, 1035 =

“grge Wl Fem ad s s
(A} 1928
(B) 1930
€ 1919

D) 1920

‘a7 ey i e fovan?
(A} R wE
B) Tt B

{C) iz ¥in

(D) gz S

w1, 1919 ¥ fyemen andion ®t gew w0 A
& 21 7t vt 3 s femd

(A} HreEE wEl g i W
(B) wd el 7 Falw s
(C) TR Eh ¥ Rt sl

(D) yEien w3 dee ol
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28, Which mineral is foung in monazite

31.

33.

sand?
(A} Mineral oil
(B} Uranium

(€) Thorium

(D) Coal

Limestone is used as raw material by
which industry?

&) Aluminium

(B) Sugar

[C] Cement

(D) Patson

The transport facility mainly used in
India is

iA) pipeline

(B} rail tranaport

(&) road transport

(D} air transpor

Which country is the major importer of
coffee from India?

{A) United Kinpdom
(B] China
{C] Japan

(D) Meone of the above

JAPRA-OIASI4/A
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(&) == |
(B) FFaw
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31.
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Brefafen § 4 0w v § mw ofEs
T 7

() TEIEA

(B) & i

[C) weF TREE

(D) am IREH

FH-HT T WG ¥ TEd AE wE § wR
arrar wam B7

(a) e FEam

B IR

(C) =mH

D) o= & & =



33. The sectors are classified into public

34.

as.

and private sector on the basis of
(A} employment conditions

(B] nature of economic activity
(C] ownership of enterprises

(D) number of workers employed in the
cnterprise

Formal sources of credit do not include
{4) banks

{B] cooperatives

(C) employers

[0} None of the above

Development of & country can generally
be determined by

(A) ita per capita income

[B) its average literacy lewel )

(C} health status of its people

(D) All of the above

36. Among the following, which country

JAPRA-O1A[14/A

suffered disintegration due to political
fights on the basis of religious and
ethnic identities?"

(A} Belgium

[B) India

[C] Yugoslavia

[0} Netherlands
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37. lnﬂiemmduacuing.dsmmthqr, 37. e & TiEe ¥ P @ Aeffm AR
which among the following is the odd HA-a e T R

one?
i g wom g
(A) s iR Freom g

Democracies need to ensure

{A] free and fair election

(B} dignity of the individual B) =fis % mim
(C) majority rule (C) WEHER % TR
(D} equal treatment before law (D) T & T FEEm
38. Seats are reserved for women in India 3s. wim A afwdt & R @ R oamem B
in the e §
(A) Lok Sabha (A) = an A
(B} Vidhan Sabha B faram o #
(€] Ministry ic) wfriea &
(D) Institutions of Panchayati Raj (D) Sl & el &
39. The author of Natyashastra is R TR S S
(A} Shamngadeva a) R
(B) Bharat Muni B) o
(C) Pt Ahobal 5 et
e D) He TEER
s miauf e, Smae “vow 40, wiyz Ioamm Sl & e 9 1
{A) Sharat Chandra Chattopadhyay (A) TR ST
{B} Munshi Premchand (B T IE
(€} Dharamvir Bharati (c) et et
D) Mahaveer Prasad (D) RN YHE

JAPRA-O 1A/ 14_."!.. 12
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68. TSV TS FR-m 21
{A) =
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(C) =Ry (C) % WTH R
D) Tt (D) =% 3 § wz =

73, Frfafes 9§ & om-m gm fralands &7

{A) - 78. fFefafiam § 4 99w aw s 47

(8] Tit-fa () e = e e sre R

1€ o (B) = g At

D} rEg-faze

(C) e e weta el #

T4. Finge W ity ot & (D) = g T e Hifan)

(4) 5=

PR 79. Brfefian % @ fou wwa ¥ faom Rl @

(C) wg= afm waim gan 37

Sl il () we-ten-gee st g de o §
78, 3 i 3 A I % feed i P &7 () v, goat e w7

m) @A (C) 7% o WH, T W =R ¥ i)

B = (D) =8 e O, T T

(c) =

(D) =

80, Frofifis 4 @ fieod R R = ofim

76. fore v § v 3w ik o frdw g R, T Wi gan 7

¢ {A) 3\, s, T e

m} {B] ¥g, W-1mW, T

(B) wnitm arR T

(C) wqF T () an g

(D) W T (D) geerm T w8

JAPRA-O1A 14 /A 21 BT,
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SECTION:-—C [ ¥m—C
GENERAL ENGLISH |/ 5mr=g 3iisf

81. "He retired from business ﬂ“_‘E.E his

ill health.”

Replace the underlined phrase with
a single word /group of words.

[A)] since
(B) becauae
[C) as because

(D} because of

82, — | am poor | am honest.

(A} Because

(B) While

(C) Though

(D) Whers

. Not only did Raman lie, he —
cheated his clients,

(A) again

(B] absolutely

(C}) ecven more

[0} alsa

84. We find hardly 8 man who sits down

and writes ajan — letter.
(4} bold

(B] attractive

iC) wonderful

(D) good

-

JAPRA-OTIAS14/A
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B85. —— letters are addressed to newspaper,

leaders and high officials.
1A} Personal
[B) Business
() Editorial
(D} Official

. It iz the men and women behind the

machines and the people who manage
the technology who are critical in
bringing about these improvements.

The word ‘critical’ in the passage means
{4) analytical

(B} crucial

(C) judicial

I judicicus

. 1 prefer the radio set, the good old box

by your bedside. And here, again the
older and the larger the radio set the
better for me. | do not like these new-
fangled transistors.

The word newiangled’ suggests
(&) wery complex

(B] recently assembled

iC] colourfully decorated

D) newily came into fashion

o | —— you to keep quiet.

(A) beg from
(B] beg for

(C} beg of

B) beg



20.

21.

92.

JAPRA-OLAS14/A

You —— that yau liked the book. Y
{A) =aid
B) saying
(C) tell

D} telling

The garbage was — out.
{A)  throw
(B} threw
{C) thrown

(D) throwing

He —— the doorbell.
(4] push
(B] rang
(C) ring

(D} ringing

—— you live long |
[A} Can
(B} Must
() will

D) May

25

3. | wish | ——.change my fate.
(A] could
(B) may be
(C) will

(D) would

. =—— you always interrupt me?
{A) Must not

(B] Must

(€] Might

(D) May be

! do not know —— you are thinking.
[A) where

(B) what

|C) while

D) as

IShc is geing to go — nobody iz going
to find her.

(A) what

[B) when

(C) there

(D} where

[BTO.




a7.

100,

The police do not know —— the
accident happened.,

{4} before

(B8] after

(C} when

D) what

They have never been poor —— they
opened the shop.

&) since

B} so

(C} just so

D) while

Mona went to the dancing school —
her father wanted her to.

(4} because of

(B) all because

(C} just because

(B so because

The robbers broke into the house
—— the family was away on vacation.
{A) just until

[B) =0

(C) as long as

(D3} while

JAPRA-DIA/14/A
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101. Anu wanis — apples to make a pie.

102.

103.

104,

(A) some
(B} any
(C] one

o} little

Soma could ——— take the blue coat —
the green one but not both.

(A} either, or

{B] neither, nor

(€} either, nor

(O} neither, or

Only a — beggars were out in the
airesels,

(a) little

B} lot

C) few

D) couple

Fill — the application form.

(A} out

B in

)] up

(D) ower

p—— R ]



105. The gow jumped —— the fence. 109. The synonym for ‘consequence’ is

(A above (A) cover
) oves . (B) result
11 (€] sequence
(D) across ——

106, What are you looking ——~7?

= 110. The synonym for ‘couple’ is
W ) () few
B} in B some
{C) to
(D) out i) two
(D} many

107. Pick out the appropriate word to join
the two sentences given below

The was bright. 111. The antonym for ‘diversity' is
We could see our way. () similarity
Al but
L} ®) vari
(B] though )
o [C) desirability
(€} however
; (D) disparity
@) and

112. The synonym for nutritious® is
108. He has some bijlls —— he must pay.

{Al whom A mirong
B) where B henefit
[C) which (C] health
D} who D) healthy

JAPRA-D1A/14/A 27 | RT.O




113, The antonym for beautiful’ is
(A} ugly
.[E] ordinary
() pretty

D} dowdy

114, The antonym for ‘create’ is
(&) deatroy
(B} destructive
[C)} destruction

(D) destroying

115. The antonym for ‘sweet' is
{A) bitter
(B) sour
C] tasty

[} plain

116. —— there ig life, there iz hope.
{4) Whether
(B) Either
1C] While

(D) Obvious

JAPRA-O1A/ 14 /A
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117. While climbing the tree, the boy was

118.

119.

130.

— by a bee.
(A} sting

(B) stang
(C)] stinged

D} stung

“She is very much sweet and beautiful.”
Identify the word that has to be omitted. 2

1A) s
{B) and
[C) wery

(0} much

“We talked over the matter for an hour.”

Replace the underlined phrase with
& single waord,

(A) talk
(B) discussed
(C) thought

D) reflect

Cme should keep —— promises.

{4) one's

(B} her

(C) their ‘-

@ his
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131.

123,

123.

SECTION—D / wm—D
GENERAL MATHEMATICS |/ gm=g 7fte

A tree breaks due to storm and the
broken part bends so that the top of
the tree touches the ground making an
angle 30° with it. The distance between
the foot of the tree to the point whers
the top touches the ground is & m. The
height of the tree is

{A] 12/Em

B 83m

€] 24m

(D) 12m

Consider a tent of shape of a right
circular ocone having a base of
13-86 sq. m. The material used to build
the tent costs & 3,465, One metre of
that material costs ¥ 150. How much
air will the tent contain?

(A} 13524 lit

(B) 13452 lit

C] 12936 lit

D) 12369 lit

If Sis a finite sample space and A, B

are any two subsets of 5, then
P(A)= PIANB)+ ?

PIAUE)
P(B)
PlARE)

PlA" = B)

JAPRA-O1A/14/A

a1

121.

122.

123.

g ik wem v g g W ¥ e g e
Tewmn g i & S0 A & T 300 H=
oF W e ¥ I g, el G o wif
T WG, W O U & e % e

@Btﬁntla‘ﬁlﬁmt
(A} 1245 the

@) 83

) 24

(D) 12 e

e JATR 5 & e & uw A amm
W dwEm 1386 fle ¥ mE owE

#3465 T ® o e 3 d=

forme =1 qEa € 150 @, o e # Beaht v
Lyif

iA) 13524 e
(B] 13452 Hte
{C) 12936 e

D) 12369 e

wm & v ot o e ¥ o A, B
£y §, 9
PMJ’FIAHBHi

i) FlawB)
(B) P(B)

IC] PlIANE)
D) Pla’~ B

- [PTO.




124. Three identical dice are rolled.. The 124, o, 909 THE F OGEEEET G §1 e
=

probability that the same number will qEnell % S OEE e wm g
appear on each of them is it §
1
A - 1
A =
1
™ 36 ® =
36
1
© % 1
; [Cl']'E
o = .
EDZIE

128. The weighted arithmetic mean of the
firat n natural numbers, whose weights

are equal to the corresponding 125. TEel n wEhE wEmsl @ aie A e,

numbers, is equal to Forrs v 7t et & woae &, B
2{n- ) o
W = - 2{:13 3
B 21_!1_;]} ® 2n+ 1)
* 3
n-1
iC) —— IE
3 © Es_l
D) Z2n4+1

L]
¥
+
—

(o}

126. The standard deviation ([SD} of the
numbers

1,2 3,4 5,467, 8 9,10

is approximately

136, #emsl 1, 2, 3, 4,5, 6,7, 8,9, 10%
o e = u B, T

(&) 287 el
B 321 B B
() 278 © 278
D) 825 D) 825

JAPRA-OL1A/ B4 SA 32



127. If p and g are chosen at random fram 187, W p o g agfesw ol & a4

128.

129,

130.

the ‘set {1, 2, 3, 4, 5) with replacement,
then the probability that the roots of the
equation x? + px + g = 0 be real, will be

13
25

1
B =
B) £

12

a5

3
o 2
o

1A

i<

If.the length and breadth of a rectangle
are  doubled, then the percentage
increase in the area will be

(A) 150%
=)
1<
]

200%
400%
300%:

If the areas of three adjacent sides of a
cuboid are x, i z respectively, then the
wvolume of the cubeid is

A xyz

B) Zxys=

© Ja=

D] 3y

A sphere and a cube have equal surface

arcas. The ratio of the volume of the
sphere to that of the cube is

A} Va6
B Z:4n
c) J=:43
D) J&:n

JAPRA-O1A] 14/A
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128,

129.

o e (1,2, 3,4, 5 % 9@ E A

wiftwe x? + pe o+ g =0 % g A TR
AT % = i i :

13

25

1

(B) 3

12
25

A4l

L]
3
o) 5

TR e wman  we ae e S o
t ardl, @ S 3 vl 3y B

(A} 150%

B) 200%

{C) 400%

(D) 300%

% T F AT T e F e FE
% y, = ¥, o gam =1 s

Ay =

(B) Zays
() ==
D) 3=

. TE T S TR W M, U W 6 9§

e & awan ¥ S o awee] W
agam ¥

(A) +m:J8

B «F:4m

[C) +=:J3

D +B:Jn

| BT.0.




131.

132.

133.

If the sohition of the system of linear
equations 3:—%—5:(! and §+25=T

mﬂmmeﬂmumnﬂmgigap,

then the value of p iz

(A 4

@ 2

<1

D) 3

For what value(s) of a, the folowing

syatem of linear equations will have no
solution?

x+ay=1, ax+y+4=0
A) a=0
B a=4
[€) a=21
D) asi2

The area of the parallelogram formed by
the linee y=mx, y=mc+ ], y=nx and

y=nx+1 equals

|m +n|

fm -2

(A)

i B
|m+n

B

1
m+n

s

1

(o onl

JAFRA-O1A/14/A
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131, ¥m ax—§~5=u alte §+2y-'F Tty

133.

e} % firen w wowm, et ol
-§+%=pﬁﬁ'ﬂlmi.ﬁf pﬂ'ﬂﬁt
1A 4

B 2

) 1

o 3

. a ¥ e A § fo Wi wheei ¥ fe

s w1 R wYE T AT

x+ay=1 ax+y+4=0

a=0

A
B a=+4
(€} a=tl

D) a=t2

T st Y= mx, ynmx-i-I,y-nxﬂm
y=ne+1 TW W wweew owniE oW
e &

|m + n|

{m-ny?

(Al

2

B
B) ey

1
M+

<)

1

[me—n]|

o
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134. i fix)=

136.

2 i
2_,_th.u:rltl't-eIl-l'nlu:mnnl

dx +
3x -
flxj+1 .

fi-1'

2

——

X

(A}
3x
B) a

3x+3

]
5 3x-3

3
D) =
ljz

R |
Hx=-—=2, L
ﬂimﬂmvalueafx[x- J

is
A 3

B)

e

1
C) =

o) 1

If flx)=ae®sbt+c and fi=6
F@ =1L fl33=18, then the wvalue of
Si=1 is
(A) 2
| 1
(c) 13

o) 4

JAPRA-O1A/14/A
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134,

136.

3‘+2,3’I£."‘I.L1wm!

) e VT

iA)

[14]]

(A 3

B

e

=)

Ll

o 1
W flxj=ax? +bx+e i fly=8,
@ =11 f13 =18, W f-)w am &

(A) 2

B 1

(C) 13

) «
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137.

138.

139,

) %
it fie =4:+2, then the value of

(i) ) 4 (557)

1A} 991
B) 992
[c) 996

(D) 998

If 3x =2y =4z, then x:y:z=?
(A} 3:2:4
B 4:2:3
C) 4:6:3

M) 3:4:8

The sum of the digits of 8 two-digit
number is 9. If the digits change their
places, then the ratic of this new

* number and the first number is 3: 8

The first mumber is
A) 81
{B] 45
cy 72

D) 90

JAPRA-QOIAS 14 /A
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137.

138.

139.

: x
T = @

! (57)#(s7) 4 en)

= A #
{A) 991
B 592
<) 996

(D) 998

BN dx = 2y =z, A X yiz=7

(A} 3:2:4

B) #:2:3

[C) 4:6:3

D) 3:4:8

uF E-ady W ¥ wE W ogm o ¥ s
20w} Wk we-get & wum A w2 B oww, @
7 T e 3R el T AT 3 8 R
ol T

{A) 81

Bl 45

) 72

o) 80




140. The ratio of the angles of a trfangle ia 190, feft fgw & @ wosgTm 2:5:3 f

2:5: 3. The value of the greatest angle fingm & Tgm Fo = WA R e § 3
of the triangle in circular measure is

— A =
o f
= B
(B 2 2
© 2ae © 2
©) n° D) 4n°

141. If o and B are the roots of 141, oW o M B, ax? +herc=0 F 7w §,

ax? +bx+c=0, then the wvalue of =
o B
J::+Ei* frtJ;+J;mm!

W - W ==
B = ® -
© 7= © 7=
o = o 2

142, ]rpmqm.&ﬁquﬂ“ﬁ”ﬂ lﬂ.wﬁpﬂq,xg+px+q=ﬂ%‘ﬁ!ﬂh
x% 4+ pr+q=0, then

A} p=1, g=-2 & p=1, g=-2

B) p=0, g=1 B): o ek

(€} p=-2, g=0 € p=-2, g=0
D) p=-2 g=1 . L g 2 ig

JAPRA-D1A/14/A 37 | PT:O.




143. If one root of x? -~ x -k = 0Fis & square
of the other, then the value of k is

A 2+43
(B 3+42
() 2145

D) 5x42

144, A reduction of 10% in the price of tea
enables a dealer to purchase 25 kg
more tea for ¥22,500. What iz the
original price of tea per kg?

{x] o0
B ¥ 100
) T110

(D) None of the above

145. The population of a city is 9765625,
What will be ftz population after
three years, if the rate of growth of
population is 4% per year?

{A) 19850000
(B) 21298100
(C) 20811200

(D} 10985000

JAPRA-DIA/14fA

143. T 2% - -k = 0 F TF gF g = A,
o kE A R

A} 2x43
(B] 3&+2
(C} 2:45

D 5t42

144, T/ o wEa § 10% T OE T uE
st 25 e me i W@ 7 22,500 #
wired # wem g ¥ wf e mo am i qm
v wn B7

{A] *oo
B #100
€ T110

) 3w § % =

145, TH W o weEwn 9765625 B WW
e # g F W 4 v ad @, @ 4R
= = =8 e ) e B defr?

{A) 19850000
(B} 21298100
{C) 29811200

(D) 10985000




146. What is the compound interest on

¥ 20,000 for 14— years at the rate of
10% per annum, when the interest is
compounded semiannually?

{a) €2,351-50

(B] ¥3,251:50

() ®2,52550
t

D} ¥3,152:50

147. The arca of  the equilateral

triangle inscribed in  the circle
szi-yz ~4x=-2y=1]lis

W 16V3
B 42
) 1243

D} 63

148. Let AB be the diamater ;of a circle
centred at O, If P be any pgint on
the perimeter of the circle and
£POA = 120°, thén £PBO 3%

{A) 45°
B} 30°
cy 90

) 60°

39

146, ¥ - = @ wm w Tewm few =,
@ £20,000 W 1L o & fam 10% =i
=T W W e e R

{A) ¥2,351-50
(B] % 3,251-50
Q) ¥3,52550

D) ¥3,152-50

147, g0 x? 4 y® —ax-2y=11 i go wnE

firng= =1 dwa @

Al 1643
B 4.2
) 1243
D] &3
ur #fifim oF g9, fren Fm Rg ot W

=W AB ¥ T8 9 #aftfa w am pow
firg 8 3l £PoA = 120° )1, W £PBO =7

148.

A 45°

B 30°

() 90°

(D) 60°

| PTO.




149, Let P4 and PP be two tangents of a
circle centred at O If OA =24 ¢cm and
OF =4 cm, then the perimeter of the
quadrilateral AOBP will be

A} 118 cm
B) 156 cm

[T} 112 em

(D} 132 em

The circle x*+y¢—ﬁx—1y+9=ﬂ

touches

150.

(A} X-axis
(B} Y-axis
(€] both the axes

(¥} None of the abowve

151. In & ftriangle ABC, a straight line

parallel to BC cuts AB and AC at points

D and E respectively. If AE = 2AD, then
BD: EC=?

Al 1:3
B 1:2
cy 2:1

o) a:1

JAF'R_.-]..Q]A!_..'_;J‘_
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14%.

150.

151.

WA T Y AR s ACH D WE

R R pa a PE ouw o, T ¥
fg 0o %, & @ witad &1 wm
O4.= 24 de o 3 OF =4 He Hic &, A
W AOBF ¥ THE F1 7H F

{A) 118 He e
{B) 156 e e
() 112 Be e

(D} 132 R Hte

Tﬁxa +y? - Bx-2y+9= 0o wm
A) X-=m =

[B) Y-8 w

() #dt st

[ =9 o & =i =

T fiygw ABC § v W@ W, @ BC &

fagdl W o fafm =l & s
AE =2ADW®, # BD: EC=7

A 1:3
B8] 1:2

€ 2:1

o) 3:1




152. The equation of the' straight line
passing through the point (32
and perpendicular to the siraight line
y=x is

A} x-y=35
B) x+y=5
C) x+y=1
m x-y=1
153. The straight lines ax+by+e=0 and

Ax+ By+C=0 are perpendicular to
each other, if

(A} ad+bBE=0

[B) aB+bA=0

[C] AB+ab=0

{D) None afthza}rmt
154. The value of

@mn22° & tan23° + tan A2, tan 23°

Ay 1

ic)

B3|

1]

L LR

JAPRA-DIA/14/A
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152. (32 fg @ B e Wl wem oW

153.

154.

gt w8, W ye=x WA
o, 2t

{A) x-y=5

(B] x+y=5

C) x+y=1

(D) x-y=1

W= tEn ex+bytes 0
Ax + By + C = 0 TH-FH F o §
{4} aA+bE=0

[B] aB+bA=0

(C} AB+ab=0

(D) 37w & A wi§

tan22* + tan23% 4+ tan22° tan23°
Cich |

(A} 1
B 2

)

B |

o)

ko

#r
, afs

[PT.O.




155,

156.

157.

If the diagomal of a certain square is
doubled, then by what factor doea the
afea change?

4 2
B} 3
C) 4

[} None of the above

then the walue of

4, —b
?+h2’

(B)

c)

(D)

Which one of the following iz the value
of sin1755%?

Al

B -

i<)

(D) Mone of the above

JAFRA-D1A/14/A
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166.

1B6.

1B7.

it v of = fawd @ oA ww, @ ek
gt A T v g dvR?

A) 2
B 2
c) 4

(D) w48 I

2 _p2

= ﬂ+b2,ﬁ!m9mmﬂm

(<

(D) Zabla® - %)

Frerferfiay § & sin 1755 % o@ =037

{A)

i<}

D) wodew A 4 2




158. The value of 21 w18 eoa 1% coe 2, cos 7, | cos 179" H

cos 1°.cos2% coa 3%, ... .cos170° CIch

is
) L

[A) 1 2

7

B 0

{B} 0

ic) 1 o 1

(D) None of the above (D) =9 & # =i 7

159, A statue, 16 m tall, stands on the top of 159. % o, St 1-6 e =l §, U6 3 & I

a pedestal. From a point on the ground, mﬁlﬂ#ﬂtﬁﬁﬁ%‘]ﬁ*mﬂ
the angle of elevation of the top of the ‘.
dtutnie 1a B0 and froin the vates goint mﬁwwﬂ:maﬂﬁﬁgwﬁi
the angle of elevation of the top of the T W T 457 ¥ s & Il b
pedestal is 45% The height of the
pedestal is A 05E-1 e
&) O5K3-1m B] 04@y3+1 e

O 243
= aiht C) OB+
Q) 0BWE+0m

(D) I & & =
(D} None of the above

160. A kite is fiying at a height of 60 m above  160: T %1 77 3 60 e A S mzs Wt ¥

the ground. The string attached to the o A gE g W el ¥ ouw fag @
kite is temporarily tied to a point on the st w9 & dar gon ¥ wlw & T it W@
ground. The inclination of the string wFA 60° ¥ 1 WW wifem T8 wpn w4 W fien
with the ground is 60° The length of T, # 3a o e b

the string, szsuming that there is no
slack in the string, is

(A) 404/3 e
(&) 4043m
o3 (B) 80J3 e
B8] 80im
e
i) 2083 m ) 2043
D) 6043 m D) 6043 e

JAPRA-O1A/14/A 43 [ BT
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' ‘SECTIONLLE [ wimi—E"
GENERAL SCIENCE / om= =eM
[ Physics [ werd-fEam )

161. Which of the following is a star? 161. Fr= 1§ & 99-m v fmm ¥7

1562,

(A) Earth ()
(B} Moon B} e
IC) Jupiter ic) m&ll
(0] Sun ) ¥

Which one of the following is the world's
most abundant fossil fuel?

162,

P & % ¥R-m R oW we T T
YT AT (foasil) $69 BF

{A] Methane (A i
(B) Biodiesel (B) =i
[C) Petroleum (c) e
() Coal (D] FrE
163. The unit of charge is 163. wmam (wwf) & g ¥

{A] ampere-cm-second

{B] ampere/cm-second

{C] ampere-second

D} ampere/second

JAPRA-Q1A/14/A
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164. The decomposition of electrolyte by

165.

166.

167.

electricity 15 known as

(A} electrolysis

(B} electropalishing

C) electrorefining

(D) conduction

How much time sunlight takes to reach
on the earth approximately?

(&) 1 minute

(B} 4+ minutes

(C] B minutes- =

(D) 16 minutes

The light which results into the largest
bending angle during the digpersion ia
(A] blue

(B) green

(C) red

(D} violet

An image formed hﬁ‘th_n convex mirror
is always ! g

[A) real and diminished

(B) wirtual and diminished

|C} diminished and inverse

[0} virtual and magnified

JAPRA-OIA/ 14/A
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164, freht g e 1 s weA

(4) Fge-wwen (veemsfin)
B fagg-=sm
(€) Frp-vie

(D) =

165. yodi W Wi & R g A awh & R

ST WO E T BT
) 1 ez
B) 4w
[c) 8fm=

o 16 fimz

166. v & P st dw-Sien aen s
*

() Frem
(B) =0
{c) @&
)

167. Tow oo g Fififa ofy @ &0 8 R

(4] Tt Wi o
(B} R i wd
(c) B i ==

(D) ST #H g
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168. Light-year is the unit of 168, wHw-ad g §

(A} time Ay wE R
{B] distance B) T
IC] speed () mif

D) acceleration o)

169. For o refraction of light into denser
medium, the value of angle of refraction 169. T oW § R F WA ¥, H6Ed-

is I W
{A) equal to the angle of incident (A]  FTEE-w
{B) greater than the angle of incident B e -ter 3 s !

(C) less than the angle of incident (C) R-Fm & ¥

(D) greater than or lessa than the angle o) o i i

of incident
170. The moon is the earth's 170. a5 i &
{A) astersid [A) ot am
(B] natural satellite ) B) Tk 7w d
5 o (© md
(D) polestar

(D) g ¥

171. The critical angle is the incident angle
of light at which the angle of refraction 171, WHHEl W ATH-F Faw W g, 5=

is T -F WA
A} 30° {A) 300
= &0 B 60
ic) so {cy 90
A D) 45t
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172. Photovoltaic cell conyerta the ;mla:
energy into

(") electricity
{B) chemical energy
{C] mechanical energy

D) geothermal energy

173. ldentify the non-renewable energy
source from the following.
(A} Solar power
(B Hydropower
[C) Wind power

(D] Wave power

174, A wire of radius r has resistance R If
the radius of the wire is reduced tor /2,
the resistance of the wire will be
A} 2R
B Rf2
C] R/f4
D) 4R

175. The earth observes many &easons
because
[&) the earth is elliptical
{B] the earth is tilted
[C) the carth gets closer to the sun

(D} the sun gets hotter and colder

JAPRA-D1A/14/A 51

172. T dE R e R e = |

173.

174.

175.

= 7
) foeh
B} A= =
(c) =if F=t
(D} iR =i

e # 8 s wui-dn @ el
(&) HwwfE

[B) W& it

[C) wEa ofE

(D) o i

oE an i e e ¥ e e ofiite R Y

s A e r A T rj2 B R, @
e wheda wn g

(&) 2R
B R/2
<) R/4

D) 4R

gedt o i em w4 i
(A) geft svEE %

@ et g g
() vt gl % w8 W &
o) g i si ey g R
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176.

177.

178.

179.

({ Chemistry | TR=-fgM )

Buckminsterfullerene is an allotropic
form of .

iAl phosphorus
B} sulphur
[C} carbon
(D) tin

CH,CH O — Alkaline KMnO, + Heat

CH43COCH
In the above reaction, KMnO, acts as
(A
(B
il
D)

oxidizing agent

catalyst

reducing agent

dehydrating agent

The time taken for 10% completion of a
1st order reaction is 20 minutes, Then

for 19% completion of the reaction, how
much time it would take?

A)
(Bl

<)
() 50 minutes

40 minutes
60 minutes

30 minutes

K. for CHyCOOH is 1-8x 1075 and K,
for NH,OH iz 1-8x10°% The pH of
ammonium acetate will be

(&) 7005

B 475

< 7

(D) between & and 7

JAPRA-QIA/ 14/A
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176.

177.

178.

179,

TEIEEen e ey 37
A} e

(B] ®w

(c)

D) f&=

CH,CH,OH—=0 KMaO, « Ton_,
CH,COOH

i whiEn # KMno, fro wv & wn
W §7

(A) i FHE
B)

(C] e w5
(D) Frlem =de

geet sl f oRfrm w100 oF AR R
20 fmz ® =@ @, & 199 whieEn of
& R w =t

A} 40 i
B) 60 fir
() 30 fim
D) 50 fie

CH,COOH & fm Kk, 1-8x107% & aln
NH,OH % o &y, 1-8x1075 ¥) it
Ttz = pH B

(A) 7005

B) 475

<y 7

o) 6307 &9
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180, The number of molecoles of water: of

181.

183.

crystallization in Mohr's salt is
(A) 12
B &
c a

D) 15

The chemical farmula of potash alum is
(A} EANSO,), -12H,0

(B} {NH,); FeS0, - 6H,0

(C) KAIMgCl, - 6H,0

(D) NasAlFg

Which among the f[llowing alloys
containe mercury as one of its
constituents?

(A) Stainless steel

B) Alnico

{C} Solder

() Zinc amalgam

Which of the following can underge a
chemical reaction?

()

(B)

MgS0, +Fe
ZnS0, + Fe
{C) Mg80, +Fb

[ Cul0, +Fe

JAFRA-O1A[14/A
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181.

183,

183.

w-wEw & fiele & W & s
i &

(A 12
B 6
i 3

D) 15

ity Tl = Tl wigen &

[A] KAL[SD,),  12H,0

(B] [NH,),FeS0, -6Hy0

(C) KAIMgCl, - 6H,0

(D) NasAlFg

fr @ ® fiem T & o wh wew % ww A
W B0 47

(a) e =

(B) et

e

o) firE smEm

T # @ e T il o 37

(Al Mg30, +Fe
(B) ZnS0, +Fe
{C) MgS0, +FPb

D] CuSO, +Fe
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184.

185.

186.

187.

( Life Science [ Sfraa-fam )

Which part of the brain controls
muscular coordination?

(A} Cerebrum

(B} Cerebellum

[C] Pons

@) Medulla

Which of the following is homologous
organ to the wings of birds?

(Al Wings of insect

(B} Wings of bat

C) Gills of fish

(D) Hind limbe of human

From which part of the poppy plant,
morphine is obtained?

(A Fruit

(B] Stem

(C) Flower

(O] Root

Silicosia is
{A) respiratory disorder
(B) nervous disorder
(C) excretory disorder

(D) reproductive disorder

JAPRA-O1A/ 149/ A
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184.

HiewE w1 wR-m e T e = A
wm §

(A HiEm
(B) Hbdem
(c) W=

(D) g

185. 7 & @ Fh-m o ¥ dw = wEw Am

186.

¥

) 2 T

(B) wwmEE % TE

(C) el ¥ wereg

(D) = & &
;ﬁwtﬂﬁ#m-ﬂmﬁnﬁﬁqmﬂiﬁ
()

(B) =

() 3=

o) w=

187. Faferifire &

i) T
B) - e
(C) T fam
(D) s Fw



188. Which of the following layers is thick at

the sale and the palm?

(A} Stratum germinativam
(B) Stratum lucidum

(C) Stretum corneum

(D] Stratum apinosum
#

189, Cellular respiration takes place in
{A) mitochondria
B) Golgi body
(€) endoplasmic reticulum

D) ribosome

. 190. The largest cell in the blood is
(A) basaphil
(B) acidophil
(C) monocyte

@) lymphocyte

191. Loop of Henle is toncetned with which

of the following?

{A] Excretory system
[B) Muscle system.. .
(C) Eeproductivesysten

(D) Mervous system

JAPRA-O1A/14/A
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188, fm § & PW-f v v 7 e w o

it &7

TA) e iR

(B) % gt
[C) &za Wit
(D] HEw wEE

189. i vEuT fd o 87

{a) W

B) et &
() v g
(D) T

190, oF § wad o S ¥

ja) iR
{B) e
(€) wirmE
(D) Tz

191. Hmmﬁéﬁ&ﬁmﬁmﬁnt?

(&) TeEeH W
(B uf
C] sA™

(D) T
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19a.

193.

194,

198.

Volume of urine is regulated by

{A) aldosterone

{B] aldosterone + antidiuretic hormone
(T} testoaterons + oxytocin

(D antidiuretic hormone

Site of fertilization in mammals iz
{A] seminal vesicle

(B) epididymis

(C) vasa deferentia

(D} Fallopian tube

Graafian follicle is found in
[4) intestine

(B) leidney

IC) ovary

D) testis

Which of the following is not a
greenhouse gas?

(A4) Hydrogen

(B} Methane

(C) Carbon dioxide
[ Chloroflucrocarben

Sth June is celebrated every year as
[A] World Heart Day

[B) World Environment Day

(C}) World Voting Day

D) Werld Friendship Day

JAPRA-D1A/14/A

192. 93 F wrn # Rfafa ww d

() e

(B) UFERt + iyt vl
() Tl + aAtwitefe

(D) e whi

193, waiEt d Pl

(A) Y@
(B) g
(C) gt
(D) fewandt 7=ht

194, % ofe ot B

195,

(a) Wi d

®) T=F

(C) *wgmm |

(D) T

et # & - o6 WA-T8 (greenhouse)
T w1 B1

(4) wHEI

B) i

(C) e EEATERE

o) T

196. wfirof 5 w3 Y wawn W f

(A fore oo Rmw
B T wiam fas
c) T wem feam
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197. Which is the State Bird of Madhya

198.

199,

Pradesh?

(A)
(B

Asian Paradise Flycatcher
Yellow-footed Green Pigeon
{C) Black-necked Crane

{D) Black-crested Bulbul

Sone Gharial Wildlife
located in

Sanctuary is

{A) Assam
B} Rajasthan

{C) Uttar Pradesh

(D] Madhya Pradesh

The most aeripus environmental effect
posed by hazardoiis waste is

(&) air pollution

(B)] contamination of groundwater

{C] increase of gases

{D} habitat destruction

The best way to recharge hand pumps
and wells ia

(A) rainwater harvesting
(B)

icl

stopping irrigation

use of less water in washing
ciothes

(0 recycling of waste water

JAPRA-O1AS14/A
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198,

199.

200.
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{A) T e vei
(B) #e-yiz 0w fee
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(A) e

) e i

(c) ¥m W #
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INSTRUCTIONS REGARDING METHOD OF ANSWERING QUESTIONS

WAt % IW A weaadt fEm

. Handing

/3-A

(Please use Elack Ballpoint Pen)

. Method of Marking Answers :

To answer a guestion, please darken
only one bubble out of the given four, in
the OMRE Answer-Sheet against that
question.

. Valuation Procedure :

There are four alternative answers to a
question, only one of them is correct.
One mark will be awarded for each
correct answer. If more than one bubble
are darkened for a question, it will be
presumed that the candidate does not
know the correct answer, hence, no
mark shall be awarded.

. Cancellation or Change in Answer :

It will not be possible to change the
marked bubble with Black Ballpoint Pen.
Therefore, correct answer should be
carefully chosen before marking it on the
OME Answer-Sheet.

ovar of AnswerSheet to

Invigilator :

il Please ensure that all entries in the
Answer-Sheet are filled up properly,
i.e,, Name, Roll No., Signature,
Question Boolklet No., etc., before
handing over to the Invigilator.

(i} CANDIDATES ARE PERMITTED TO
CARRY AWAY THE QUESTION
BOOKLET WITH THEM AFTER THE
EXAMINATION.

» Care in Handling the Answer-Sheet :

While using the Answer-Sheet, adequate
care should be taken. Do not tear or

- spoil the Answer-Sheet by folding or

wrinkling, The impression of the circle
made by Black Ballpoint Pen should not
come behind the Answer-Sheet.
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